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(1] VAGhANE ST SR B on T R (L) B A S AT 5 %5

(2] ERMENT BUEMRL, IFra R BRI S REEAT A 1) € P s

[3] A2 MATLAB B2k Tl o3 TR SR AR (1 25 i &5

(4] A 2 >0 S o3 5 R D5 T (R A AR DL ROR il 4 it A2 5

WIS >, AR A AR G TR (A1) SRR CRATI. BRILVE . BBIREIE. BOARRHLILEE),
X H O JT RE VBB IREAT — 0 TR, TR A2 MATLAB B SKRAFI Y TR A <, At
SERY JTRE DS T AR O T AR RN R . R B S, EIRECE ot BYE T,
PGB A B KR I TRE VSR R T 0 oy A B o

EAiseI
L. SR JT R AT, JFE e B,
vy o=y+2x y(0) =1, 0<x<1;
v’ +ycos(x) =0, y(0)=1, y (0)=0;
2. IR ATRRRL A A S b A R TTHE 7 = v - 2x/y, y(0) =1 (0<x<1,h =0.1) WHUA
filt, ERMERET, FEHCEBRPIFONERITHR AR, W A4 2
X'=-y—-12
y'=X+ay
Z'=b+z(x-c)
3. Rossler #4524
Y8 E S b=2, c=4 i, KITWHSE a /MBI (an a€ (0, 0. 65)) 1M 7 R ARG AL, I
Hoim B R 26 B, W23 ) it 28 02 15 7% Ok 2
4. Apollo T EMIZ B ) 22 i

. . X+ X—
%= 2y + x— £ : 1) _ 3%),
1 r-2
y:_szry_ﬂl_g_ﬂ_?’y,
1 r2

u=1/82.45 u =1-y,

L= )24y, 6= (x— ) + P

x(0) =1.2, X(0) = 0, y(0) =0, y(0) = —1.04935751




—\ EHIE
1. (1) >>y=dsolve('Dy-y-2*x=0','y(0)=1','x")
y =
3*exp(x) - 2*x — 2
>> x=0:0.01:1;y=3*exp(x)-2*x-2;plot(x,y)
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(2) >>y=dsolve('D2y+y=0',"y(0)=1','Dy(0)=0",'x")
y =
cos(x)
>> x=linspace(-pi,pi,60);y=cos(x);plot(x,y)
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2. (1 [AJATRRPL A 3
M-SCAFR TR -
clear;
x1(1)=0;y1(1)=1;h=0.1;
for i=1:10
x1 (i+1)=x1 (1) +h;

y1(i+1)=yl(i)+h*(yl(i)-2*x1(
end
x1,yl
plot(x1,yl, 'r=*");
AR
X1 =

Columns 1 through 7
0 0.1000 0.2000
Columns 8 through 11
0.7000 0.8000 0.9000
yl=
Columns 1 through 7
1.0000 1.1000 1.1918
Columns 8 through 11
1.5803 1.6498 1.7178
(2) BrkRRAL 2 3
M-SR

clear;

1) /y1(i));

0.3000 0.4000

1.0000

1.2774 1.3582

1.7848

0.5000

1.4351

0.6000

1.5090




x2(1)=0;y2(1)=1;h=0.1;

for i=1:10
x2 (1+1)=x2 (1) +h;
k(1)=y2(i)-2*x2(1i)/y2(1);

k(i+1)=y2 (1) +h*k (i) -2*x2 (i+1)/(y2 (i)+h*k(i));

y2 (i+1)=y2 (i) +h/2* (k (i) +k (i+1));
end
X2,y2
hold on,plot(x2,vy2, 'b-0");
(EHIEP S
X2 =
Columns 1 through 7
0 0.1000 0.2000 0.3000
Columns 8 through 11
0.7000 0.8000 0.9000 1.0000
y2 =
Columns 1 through 7
1.0000 1.0959 1.1841 1.2662
Columns 8 through 11
1.5525 1.6165 1.6782 1.7379
(3) %\ MATLAB iEf) sk fE i :
>> y=dsolve('Dy-y+2*x/y=0",'y(0)=1",'x")
y =
exp(2*x)*(1/exp(4*x) + (2*x)/exp(4*x))(1/2)

(4) IRAE B LLBM R ERTHSEAE R, e R)

>> hold on,x=0:0.1:1;plot(x,eval(y),'k-+";
R

0.4000 0.5000

1.3434 1.4164

0.6000

1.4860
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3. # M-

function xdot=fShiYan3_3(t, x)
xdot=[-x(2) —x (3) ; x (1) +0. 1*x (2) ; 2+x (3) * (x (1) -4) ] ;
SREHIN LA T

clear

x0=[0.1 0.1 0.1];

[t, x]=ode45 (" fShiYan3 3 1", [0, 1501, x0) ;
plot(t,x(:, 1),” =", t,x(:,2), %, t,x(:,3),”0")
n=size(x, 1) ;figure(2),

plot3(x(:, 1), x(:,2),x(:,3),”.7),

grid on
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function xy=£f2 (t, x)

u=1/82.45;ul=1-1/82.45;

Xy=[x(2);2*x (4)+x (1) -ul* (x(1)+u) / ((x(1)+u) "2+x (3)*2)*1.5-u* (x(1)-ul) / ((x(1)-ul)
~A2+4x (3)72)~1.5;




x(4);=-2*%x(2)+x(3)-ul*x(3)/ ((x(l)+u) "2+x(3)"2)*1.5-u*x (3) / ((x(1)-ul)"2+x(3)"2)"1
.91;

[t,x]=o0ded45('f2',[0,64],[1.2,0,0,-1.04935751]);

xl=x(:,1);

yl=x(:,3);

plot(x1l,vyl);
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7. PIREYIMEREFHE

—, XWASF B
Z. [l
RV SE S AR R IRZ, WH P CA WM Logistic MU, FE MR,
TEL 58 26 E R VR A R IR ME A% x1=50, x2=50; rl1=1, r2=1; nl1=500, n2=500; ml=5,
m2=10.
XT3 4) TEATAAT B 2045 4 5% R B
dx1/dt=r1*x1 (1- (x1+m2) /n1)
dx2/dt=r2#x2 (1~ (x2+ml) /n2)
=\ BERBIWESL SRR (BRI  SRAFD RSB R, RS T B )
1o fhHf8AI1S, FIMATLAB (ar&ifiE: 4N (f.m)
function f1=f(t,x)
m=[10 20];n=[500 1000];r=[1 1];

f1=[r (D *x (1) (1= x (1) +m(2)) /n (1)) ;1 (2)*x(2) (1= (x(2)m(1)) /n(2))




HUB A1, HI MATLAB #3768 5 Wi
x0=[50 50];
10=[0 20];
[t x]=0de45('f',t0,x0);
plot(t,x(:,1),'r",t,x(:,2),'b");xlabel('t");ylabel('n");
title(£ & n 5HF1H] t L RY;
fEH nt )5, MA@ 165
plot(x(:,1),X(:,2));xlabel (F i — % &");ylabel (F i 20 &),
title('FH &");
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